Tabnuua 21.1. Tabruya ucxoouvix OAHHbIX

Ilepemennass | Hasnadenue 3HaueHHe Hnentuduxarop

Ns, Howmep Gpuranst | Ng, Nb =

N Jnuna KUX- N =Ng, mod10+41 N =
¢unpTpa B
coctaBe AD

L Anuna L =1000(Ng, mod2+3) L =
BXOJIHOTO
curHana A®

f, Hacrora f, = 2000(Ng, mod5+1) Fs =
JIMCKPETH3aLHH

A AMIUTUTY 1B A =0,03+0, ()01N6p Al =
JIMCKPETHBIX

A, rapMOHHUK A, =0,5A n2 =

f, YacToTsl f,=f /8 f1l =
JIMCKPETHBIX .

f, TapMOHUK f2 - f;l/4 f2 =

a 3ananHbie Homepa 6puran N Bexrop
(uCTHHHBIE) op 2= (1 1
mapameTpsl AP- T
MOJEIH 1—10 11—20 21—30

ay 1 1 1

] —0,86 -0,10 0,50

& 0,54 0,20 0,17

a3 -0,30 0,20 0,30

ay -0,17 0,10 0,10

ag 0,22 0,30 0,10

ag -0,10 — -0,10

ay — — —0,50




